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First Year Higher Secondary Improvement Examination 

Part - III 

ACCOUNTANCY WITH COMPUTERIZED ACCOUNTING 
Maximum : 60 Scores 

Time : 2 Hours 

Cool off time : 15 Minutes 

General Instructions to Candidates : 

• There is a 'Cool off time' of 15 minutes in addition to the writing time of 
2 hrs. 

• You are neither allowed to write your answers nor to discuss anything 
with others during the 'cool off time'. 

• Use the 'cool off time' to get familiar with questions and to plan your 
answers. 

• Read the questions carefully before answering. 

• All questions are compulsory and only internal choice is allowed. 

• When you select a question, all the sub-questions must be answered from 
the same question itself. 

• Calculations, figures and graphs should be shown in the answer sheet itself. 

• Malayalam version of the questions is also provided. 

• Give equations wherever necessary. 

• Electronic devices except nonprogrammable calculators are not allowed 
in the Examination Hall. 
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1. Which one of the following is 1. ®0@'9<;l:jOm.>6crnru mJl(l)T) cru..o1 co @'@ mf ®1 

NOT a fixed asset? am, ~()(l!Yll) (lj) nffi ®? 

a) Goodwill a) (/) 6 Mnll (l)T) 

b) Stock of goods b) <&WlOcOO 

c) Furniture c) n.0©6m1.8,,1© 

d) Land (1) d) eJ ()ffi)(U) (1) 

2. Which one of the following 2. @'@ffif®1mJle.J6o OlJ,®(l)T)Ql,!,Sc001e.J6o ce:,6oruu 

transactions results a decrease ruco6crn gQSn.Jos c0:,@6fl's(l!Yll)6c0:,. 

in asset and capital? a) n.J6(l)o meiuce:,1 ffi)()U)ffi6l5BCJD ruo6l5Bl. 

a) Purchased goods for cash. b) m1lm:>1m();B1<&e.JcOO m6®(l)T) m6sc001. 

b) Capital brought into the 
c) m:>Jce:,oco,'.) @'@ru Cll),'.l(l!Yll)1 momJl n.Jsmo 

business. 
n..n ffi)(lj ell .g,jJ,. 

c) Withdrew cash for personal 
d) 6YlJ083:,1(l)T) m1crnu <&e.J06ll0 <1B)S6(l!Yll)6. (1) 

use. 

d) Loan taken from bank. (1) 

3. Find the suitable data type for 3. 'Employee' nmcm <&s6YlJ1 CJD 

the following fields in the table ®(ill OOOc006 <&ffiJ OCJD .!2.lJ,ClJ 6)S 

'Employee'. 6) c0:, () s 6 (l!Yll)13,!,glgl n.01 (l)T) (U) 6 c0:, CJD cOOU 

Data types (Text / Number / meiuce:,6crn <&(U)f)O 6l6lS<;l:ju c0:,6)6fl's(l!Yll)6ce:,. 

Date) (2) ( @ScEbrof/mcruro/<&(U)flJ (2) 

Details Fields Name Data Type 

a) Employee number emp_ID ? 

b) Employee name emp_name ? 

c) Employee designation emp_desg ? 

d) Employee date of birth emp_dtbr ? 
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4. A) Study the details given 

below : 

i) Discounting of bill 

Collecting cash from bank 

before due date 

ii) Endorsing of bill 

Transferring of bills received 

to a creditor 

iii) Dishonoring of bill - Does not 

make payment on the due 

date 

Choose the CORRECT 

answer from the following. 

a) Only i) and ii) are correct 

b) Only ii) and iii) are 

correct 

c) Only i) and iii) are correct 

d) i), ii) and iii) are correct 

B) What term will be used for 

cancelling a bill of exchange 

before due date and drawing 

a new bill at the request of 

the acceptor? (2) 
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4. A) .!2.l6ru @s ce:,osm 6cm L n.Jmf ®oru mce:, oo 

n.J01 c06),!,c0:,. 

i) (U)1 mf c06)'0 6fl's1 ouf - ce:,o eJ oru w1 c06) 

OlJ,ffiJOmJl mJl£fl@~ ®6ce:, 6YlJ083:,1am 

m1crnu ClJ06l5B6crn6. 

ii) nffi®<&(U)0'9m:>1ouf - ce:,131m.> m1l,~r 
n.J 6(l) 0 m am c0:, 6 (lJ () m ,!,glgl @'@ (ID c06)u 

6)6)c0:,Ql006crn6. 

iii) (U)1<nf<&nD06m01oW - 6)c0:,0S6c06)6ClJO 

m6g1g1 ®"lm.>®1m.>1am n.Jsmo 

meiuce:,2,crn1~. 

a) i), ii) 

C/l)(01m.>06m. 

nmcrn1ru QlOL®o 

b) ii), iii) nmcrn1ru QlOL®o 

C/l)(01m.>06m. 

c) i), iii) nffiCYD1ru OlOL®o 

C/l)(01m.>06m. 

d) i), ii) iii) omcrn1ru Cll)co1m.>o6m. 

n.JC01(f)sm1-8,)' c0:,0e.JOClJW1c06)6 Q),!,ffiJOmJl 

n.J'9(!2) mJl~u 0'30c06)1 n.JJ,®1(!2) mJl~u 

nffi'96®6crn ffi>lffiJBOm.>o nffi®u 

<&n.Jco1eio1m.>@<;i:js6crn6. 
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5. Mr. Muneer, a fruit merchant 

maintains incomplete records of 

accounting. 

a) Name the statement 

prepared by him to find out 

the opening capital balance. 

b) Find out his capital as on 

1st April, 2015 from the 

information given below. 

Furniture 

Machinery 

Cash in hand 

Bills Payable 

Sundry Debtors 

14,000 

26,000 

6,300 

3,450 

15,700 

Sundry Creditors 4,800 

Closing stock 7,300 

c) Find out the amount of profit 

made by him during the year 

ended 31st March, 2016, ifhis 

closing capital balance as on 

that date amounts to~ 67,500 (4) 

6. Briefly explain any two 

objectives of accounting. 
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5. n.J '9 c06) -8,,1 ru Sc06) o com om> m1 wi ro m6 m"l ro 

®o c06) ro 6fl's 6 c0:, cm (lj) cm () 0 () c06) 6 cm 

gQcfoce:,ogJlfl Clll®1m5leio6m'. 

a) ®o c06) ro 6fl's1 o (/) V 

®6Sc06)wm)1@e.J 

c0:, 6) 6fl's mm() cm (lj) cm() 0 () c06) 6 cm 

<&Wlfl6l0l~ nffi®OGm? 

b) .!2.lJ,ClJ6lS 

nllruco6l5B~am m1cm6o ®6sc06)rnm1@ei 

OlJe.JWmo c0:,@6fl'srnm6ce:,. 

@ m n9'./l mo1 

14,000 

26,000 

6,300 

15,700 

4,800 

7,300 

c) 2016 moro.q,t 31-@ei mJeiwm 

6YlJ 0e.J ®<YU 6 7, 500 COJn.J W06l6m83:,1 am 

m S<;i:j 6 ClJ CO n91 o ®om> 0 cm c06)u c0:, 1 31 m> 

e.J0@o nffil®? ( 4) 

6. ®o c06) ro 6fl's1 0 (/)1 6) ~ co 6fl'su eJ cfh9::1,'.) 6l5B cm 

eine.i6ru o m5l nil ru co1c06) 6ce:,. (2) 



7. From the given pairs find the 

correct one. 

a) Debit Increase in Assets 

b) Debit Increase in Revenue 

c) Credit - Increase in Expenses 

d) Credit - Decrease in Liability 

8. a) Name the statement 

prepared for locating errors 

and checking the 

arithmetical accuracy of the 

ledger accounts. 

b) The following errors were 

found in the books of 

Mr. Immanuel. Identify the 

type of error and write the 

rectifying journal entry. 

i) Wages paid for 

installation of Machinery 

~ 1,000 was posted to 

wages account. 

ii) Furniture purchased for 

~ 8,400 wrongly recorded 

(1) 

in the purchase day book. ( 4) 
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7. .!2.l6ru@s ®cm1 36~~rum.>1(l)T) m1cm6o 

(ll)C01 WO m.> <& g,JO(U)1 c0:, 6)6fl'swm)6ce:,. 

8. 

b) @ (U)mJl R - ru co6mom o ru roBD1c06) 6 cm 6 

c) 6l l ce:, (U)1 fl - @ .!2.l ei (lju ru ©BD1c06) 6 cm 6 

a) 

b) 

eJ QO g'J(O @loc06)'() 6fl's,!,c0:, CJD ®(ill 000c06)1 

m.> ®1@e.J 6) ®fl,!,c0:, CJD c0:, 6)6fl'swm)()ffi 6 0 

ce:,~®,'.)® n.J co1 <&(ll)OW1c06)6ru om6mom51 

®(lli000c06)J,cm <&Wlfl6l0l~6)~ (&n.J(l) 

nmoooGm? 

m1 ro:l© gQQillOffi,!,ClJ efl@~ 6YlJ,!,c06)1 (l)T) 

ce:, @ 6fl's rnm1 @ ® fl6ce:, m@ s ® co ru 6 o 

n.J co1 nD o co <& g,J ro sm (l)T) nm cm l s1 m.> 6 o 

nm '9 2, ® 2,ce:, . 

i) @ mn9'.ll mo1 cru..o on..nc06) 6ru o mowl 

me.Juc0:, 1m.> (&(lj ®mo 1,000 COJn.J 

<&C06lJ6l<;i:jSJ,wm)1. 

ii) 8,400 COJn.J(!2)uc06)u n.0(06(l)1.g,l© 

(1) 

(4) 
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9. In every table, there will be a 

field containing a unique value 

used for identification. Find its 

name. 

a) Primary key 

b) Domain 

c) Relation 

d) Entity 

10. In a Balance Sheet, the assets 

and liabilities are grouped and 

arranged in a particular order. 

a) What is the name used for 

arranging the Balance Sheet 

items? 

b) Identify the order in which 

assets and liabilities are 

arranged in the Balance 

Sheet given below : 

(1) 

Liabilities Amount~ 

Bank Overdraft 4,000 

Sundry Creditors 8,000 

Loan from bank 10,000 

Capital 56,000 

78,000 

KR-126 6 

9. ~o <&smJ1~1e.J6o ®1co1-8,do1m.>e!lmom51 

g?_ n.J <& m.> o (/)1 c06) 6 cm l n.J <&®Jee:, ClJ Oe.J,'.)J 

<& co 6lJ @ <;i:j s 6 mm 6 ru om 6~~ 63 co 6 n.0"1 (l)T) ruf 

g?_6fl'sOc0:,6o. ®o®1@~ <&n.J© nffimll? 

a) 6l6lln.JOl01 ce:,"l 

b) 6)(U)6) 6)Ql mi 

c) o1 <& ei n91 mi 

d) nm ~1 fl1 

1 0. 63 co 6 6YlJ o ei mi mr n91'l R1 (l)T) @'@ mr ®1 ce:, fil o 

6YlJOW,'.)®c0:,filo l(f)J<;i:ju @.!2.JW® Ln.J<&®,'.)c0:, 

630ffi(U)01e.J06ffi <&C06lJ6l<;i:jS,!,wm),!,CYD®. 

a) gQ"O ffi>lffiJBOm.>rnm1mu n.JOm.>6crn 

(&n.J 6) cooo? 

b) (ll)()6)'9 6)c0:,()SJ,wm}1§.!,~~ 6YlJOe.Jmiffi>u 

n91lfl1(l)T) @'@~®1c0:,filo 6YlJOW,'.)®c0:,filo 

630ffi(U)01e.J06f'lf 

Assets Amount~ 

Cash in hand 3,000 

Sundry Debtors 13,000 

Land and Buildings 60,000 

Goodwill 2,000 

78,000 

850 
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c) Find out the amount of 

"Current Assets" and 

"Current Liabilities" from 

the given Balance Sheet. 

11. What is CPU? Explain. 

12. On 1st April, 2016 Thomas 

purchased goods from Arun for 

~ 6,000 on credit. Identify the 

debtor and creditor in this 

transaction. 

13. Write any four attributes of the 

entity "Student" in an ER 

design. 

14. Which one of the following is 

NOT an input device? 

a) Digital camera 

b) Laser printer 

c) Bar code reader 

d) Track ball 

KR-126 

C) m6ce:,~am 6)c0:,0S6rnm1~ 6YlJOe.Jcfomf 

n91lfl1am m1crn2,o "ce:,o~ ®om:>fl1" 

w ,!, @ s w ,!, o "ce:, o 1f ei w 6YlJ1 eJ1 R1 " 

(3) m.>6@sm.>6o as,6ce:, c0:,@6fl'srnm6c0:,. 

(2) 11. CPU nffimll06)6(l)ITT) nJl(Jl)BQl0c06)J,c0:,, 

(1) 

(2) 

(1) 

12. 2016 nffiln.llam 63CYDOo @"lm.>@1 <&®OQlffi>u 

®oco2,sm1am m1crnu 6,000 ©Jn.Jm.>uc06)u 

ffi)()U)ffi6l5BC/D ruo6l5Bl. gQ"O gQSn.JOS1@e.J 

"@(U)6YlJufl&", "@Lce:,(U)1fl&" omcrn1ru@co 

c0:, 6)6fl'sWfmJ,c0:,. 

13. 63©6 ER (U)1@@m:>m1am "Student" 

nmcrn Entity-c06)u ®offiJ,<&m.>Og,J,'.)QlOW 

moe.Ju ®oLS16YlJJJ§!,c0:,CJD nffi'96@6ce:,. 

14. gQ®n.JJ,3u (U)1 6) 6) (lJ ffi)u (tJT!) ~()mm air 

c0:, 6)6fl'sWfmJ,c0:,. 

a) (U)1~Ram ce:,omo 

b) <&e.J m:> ro l nJl ~ro 

c) 6YlJ ()(O(&c0:,()(ill ol (U)(O 

d) LSOc06)6YlJOC/D 

850 
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15. a) Name the statement 

prepared to ascertain the 

causes of difference in the 

cash book and bank passbook 

balance. 

b) On 31st March, 2016 the 

cashbook of M/s Media 

Associates showed a debit 

balance of ~ 15,200. On the 

same date his bank passbook 

showed a credit balance of 

~ 19,850. 

On comparing, the following 

differences were observed. 

i) Cheque for~ 3,200 issued 

to Vivek & Sons on 

25th March, 2016 was not 

presented at the bank. 

ii) Cheque received from 

Hameed 1,800 

deposited into bank for 

collection on 28/03/2016, is 

not yet collected and 

credited. 

iii) Interest on deposit 

credited by bank in the 

passbook~ 850. 

iv) Sajith, a customer 

directly remitted ~ 2,400 

in the bank account. 

Show, how these balances were 

reconciled. 

KR-126 
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15. a) c£h O Cl~r 6YlJ 6 cB6{ 6YlJ O eJ ® ffi> 6 O 

n.JO<YU6YlJ6c06)' 6YlJOe.Jcfom:>6o ®Qlll1e.J~ 

ClJ,'.)®,'.)Om:>o c£h@6fl'swrm6crn®1momJl 

®(lli000c06),!,CYD <&Wlfl6l0l~6)~ (&n.J(l) 

nffimll? 

b) 2016 mo&.!~i 3 1-(l)T) m"l M1m.> 

®o<&m:>om:>1<&m.>fl16l~ c£hOn9f 6YlJ6c06)1 (llT) 

@GD6YlJ1flu 6YlJOe.J®m:>u 15,200 

CO J n.J (!2) 6 0 6YlJ () 83:,u n.J () ffi)u 6YlJ 6 c06)1 (llT) 

19,850 COJn.J 6llc£hGD1fl 6YlJOe.Jcmm:>6o 

c£hosm1 c06) 6cm 6. 

gQ ru n.J co1 <& C/l) o w1 -8,l <& <;i:l o oo ® o@ '9 

n.Jom.>6crn 

cB:, 6)6fl'swm)1. 

i) ru1 (& (lJ cfr,u @'@® ru)u ffi) 6llO m:>1 mu 

2016 Ql0©-8,du 25 m me.Juc£h1m.> 

n.J6(l)Ql()c06)1mJl~. 

ii) nnm"lB1(llT) m1crn6o e.J©l-8,,1 1,800 

COJn.JWJ,6lS 6).!2.Jc06)' 2016 Ql0©-8,du 

2 8 -mu 6YlJ o 03:, 1 (llT) c£h ~cfr,u n91 m 6 
(&(lj 6fl's1 m e.Jucfr, 1 m.> (lj)u cB:,~cB:,USU 

6) .!2J mr ® ®o c06)'() 6fl's1 (llT) @Lc£h GD1 R 
6) .!2J mr ®1~ . 

iii) m1<&cfrftln.JWfm1@~ n.JeflC/l) 850 

co J n.J 6YlJ () 83:,U n.J () ffi) U 6YlJ 6 c06)1 (llT) 

6llc£hM1fl 6l.!2.JW®1§!,6fm. 

iv) m:>~® nffiCYD gQSn.JOS6c£hOCO® 

2,400 COJn.J 6YlJ083:,1(llT) <&mco13u 

m1 <&cfrftl n.Jl.8.fl §!,6fm. 

850 
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16. Write any two advantages of 16. 

computerized accounting 

system. (2) 

17. Imprest system used for the 17. 

preparation and maintenance of 

petty cash book. Explain, how 

this system is operated. (2) 

18. Aashni Traders and Bhavya 18. 

Stores purchased machinery on 

01/01/2013 at~ 50,000 each. The 

amount depreciation calculated 

by them@10% for the first three 

years are shown below : 

Date Aashni Traders ~ 

31-12-2013 

31-12-2014 

31-12-2015 

a) Identify the method of 

depreciation adopted by the 

firms. 

b) Draw up the Machinery 

account of Bhavya Stores for 

the first three years 

assuming that the company 

closes its accounts on 31 st 

every year. 

KR-126 

5,000 

5,000 

5,000 

(5) 

9 

c0:, ffiJ,'.)J§ 6) 6) 0 mr cur ®o c06) ro 6fl's1 0 (/)1 6) ~ 

C06fm <&m 36l5B CJD <1ffi '9 ,!, ® 2,ce:, · 

@n.J fl1 ce:,on9f 6YlJ6c06) ® cmoooc06)6 cm ®1 m 

n.J1 cm ® 6 s co 6 cm ffi) lffiJ B0WQl0W 

'gQoLn.Jm:>ufl' m:>1ffi:io' nil ru co1 c06)6ce:,. 

O1/O1/2O13-(l)T) @'@n9fm1 @LSW<&(U)'9m:>6o 

@(lj J (& Wl O '9u ffi) 6 0 5 0 ) 0 0 0 CO J n.J Wu c06)u 

630<&CO0 @ain91lmo1 (lJ O 6l5B1 . 10% 

m1coc06)1(l)T) <& ® Wu Ql O m o ce:, 6m c06) 0 c06)1 

w <& <;l:j O CJD @'@B,'.) OlJcmu ru ro n91 @ mm 

<&®WQlOffio .!2.lJ,ClJ @S 6)c0:,0S6c06)6cm6. 

Bhavya Stores ~ 

5,000 

4,500 

4,050 

a) 63o<&coo cru.o o n.J m ru 6 o 

b) ~o ru ron91ru60 (U)1m:>o6YlJro 31-m 

®oc06)'06fm <&'eGO<YU 6l.!2.lClliJ,cmJ, nfficmu 

ffi>ffi:,~-8,)' @'@B,'.) OlJITT> QJ©n916l5B~6le.J 

@QJ,'.) <&ffi:i0'9um:>1@~ @ain91lmo1 

@loc06)'() 6fm ®(ill 000c06) 2,ce:,. 

850 
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19. Prepare a cash book with cash 

and bank columns from the 

following transactions. 

19. c0:,0n9f, 6YlJOB'h <&c0:,0~6l5BC/D g?_CID6l<;l:JS6rnm1 

63©6 c0:,0n9f 6YlJ6c06) ®(ill 000c06) 6ce:,. 

01---01-2015 

01---01-2015 

04---01-2015 

06---04-2015 

07---04-2015 

08---04-2015 

12---04-2015 

15---04-2015 

18---04-2015 

20---04-2015 

24---04-2015 

KR-126 

(6) 

Cash in hand 

6l 6)c0:,QJ Cll)o ~ n.J 6ffio 

Bank Overdraft (Cr) 

6YlJ08'h 63()(lj(O l(U)On.Oufl (Cr) 

Purchased goods for cash 

n.Jsmo me.rce:,1 ~crno ruo6l5B1 

Cash sales 

n.Jsmrnm1m nllfl® 

Cash deposited into bank 

n.J6ffio 6YlJ003:,1am m1<&<frft1n.Jl-8,d6 

Received a cheque from Mr. Murali 

Ol1ffi:i© m6co~mJlam m1crn6o 6).!2.Jc06) ce:,131 

Cheque received from Murali paid into bank 

m6co~mJlam m1crn6o ce:,131m.> 6).!2.Jc06) 6YlJ083:,1am m1<&cfrft1n.Jl-8,d6 

Withdrew cash from bank 

6YlJ083:,1(l)T) m1crn2,o n.J6ffio n.Jlcmru ell-8,,1,!, 

Paid to Chithra by cheque 

-2.!l l ®m>c06) @ .!2.l c06) m el'ce:, 1 

Paid salary 

Cll)ffiJ~o me.rce:,1 

Rahul a customer directly paid into bank 

©OnD6am nfficrn gQSn.JOs6c0:,ococfo 6YlJ083:,1am <&m©1§ m1<&cfrft1n.Jl-8,d6 

OR 

10 

5,300 

3,600 

2,750 

13,500 

15,000 

7,000 

7,000 

5,000 

3,000 

2,500 

1,800 

850 
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OR 

Enter the following transactions 

of M/s Megha Traders in 

appropriate subsidiary books 

and find out total credit 

purchases and total returns 

outwards. 

2016 

July 1 

Purchased the following goods 

on credit from M/s Harisree 

Books as per the invoice No. 637. 

120 Accounting record book @ 

~ 50 per book. 

100 Physics record book @ ~ 60 

per book. 

Trade discount at 10%. 

July 8 

Purchased the following goods 

on credit from Premier Stores as 

per the Voucher No. 612 

30 boxes of ball point pen@~ 70 

per box. 

20 boxes of gel pen @ ~ 120 per 

box. 

July 12 

Returned goods to Harisree 

Books as per the Debit Note 

No. 12 

KR-126 11 

ctm)6)~ab1arn 

® o@ '9 @ ce:, o s 6 rnm1 ~t!,glgl, <& m ne.i o 

®om 6 <& m.> o g'J,'.) mom.> m:> mr m:>1 GD m.> o1 

6YlJ,!,c001arn <&C06lJ6l<;i:jS6Wfm1. ce:,srnm1mu 

(lJ () 6l5B1 m.> @'@ 6) c0:, (lj) 6 c0:, m.> 6 0 ®1 co 6) c0:, 

®om.>-8,J ffi>OWffi6l5B~6lS @'@6lc0:, ®6ce:,m.>6o 

c0:, 6)6fl'sWfmJ,c0:,. 

2016 l!l8J6l6le.J 1 

gQ cm (& (lJ () m.>u ffi) V m ffiJ (0 6 3 7 l n.J c0:, () co 0 

nDC01@1 6YlJ,!,cOO'm:>1arn m1crn2,o ruo6l5Blm.>®. 

120 ®ocOOro6fl's1ouf o1<&cOOO©M 6YlJ6cOO' 

50 COJn.J m1coc001arn. 

100 n.01m:>1cfum:>u o1<&c000(0(U) 6YlJ,!,cOO' 60 

COJn.J m1coc001arn. 

l!l8J6l6le.J 8 

ruro-8,J& mcruro 612 Ln.Jce:,ocoo Ln.Jlm1m.>ro 

<&ro:ioo1arn m1crn2,o QJ06l5B1m.>@. 

30 @n.J31 6YlJOCJD <&n.Jowl~ <&n.Jm 70 COJn.J 

m1coc001arn 

20 @n.J 31 @g,Jarn <&n.Jm 120 COJn.J 

m1coc001arn. 

l!l8J6l6le.J 12 

6l GD mJl rr <& m O§u m ffiJ CO 12 l n.J ce:, O coo 

nDC01@"l 6YlJ,!,cOO'm:>1<&e.JcOO' ®1C01-8,,jm.>-8,,j® 

850 
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4 Accounting record books 

@ ~ 50 per book. 

3 Physics record books@~ 60 per 

book. 

Trade discount at 10% 

July 18 

Purchased goods from Vinayaka 

Stores as per the Voucher 

No. 217 

20 packets A4 photocopy paper 

@ ~ 130 per packet. 

15 packets A3 photocopy paper 

@ ~ 180 per packet. 

July 24 

Returned goods to Vinayaka 

Stores as per the Debit Note No. 

13 

2 packets A4 photocopy paper 

@ ~ 130 per packet. 

July 31 

Purchased 100 ruled note books 

@ ~ 20 per book from Karim 

Stores on credit. 

KR-126 

(6) 
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4 ®oc06)'0 6fl's1ouf o1 <&c06)0©M 6YlJ6c06) 5 0 

©Jn.J m1coc06)1am. 

3 n.01m:>1cfu<ru o1<&c06)0©M 6YlJ6c06) 60 ©Jn.J 

m1coc06)1am. 

l!l8J6l6le.J 18 

ruro-8,,1& mcruro 21 7 Ln.Jce:,ocoo nllmom.>ce:, 

<&ro:ioo1am m1crn2,o QJ06l5B1m.>@ 

20 n.JOc06)fl A4 <&n.00<&3o<&ce:,o<;l:[l <&n.J<;l:J& 

130 ©Jn.J m1coc06)1am. 

15 n.JOc06)fl A3 <&n.00<&3o<&ce:,o<;l:[l <&n.J<;l:J ro 

180 ©Jn.J m1coc06)1am. 

l!l8J6l6le.J 24 

6l (U) mJl rr <& m O§u m ffiJ CO 13 l n.J ce:, O coo 

nllmom.>ce:, <&ro:ioo1<&e.Jm>c06) @1©1-8,,lm.>-8,,1®. 

2 n.JOc06)fl A 4 <&n.00<&3o<&ce:,o<;l:[l <&n.J<;l:J ro 

130 ©Jn.J m1coc06)1am. 

l!l8J6l6le.J 31 

ce:,co1o <&ro:ioo1am m1crn6o 20 ©Jn.J 

m1coc06)1am 100 <&mo§' 6YlJ6c06) ruo6l5B1. 

850 

(6) 



20. Kripal sold goods to Jayesh for 

~ 15,000 on 12th March, 2016 and 

drew a bill payable after three 

months. Jayesh accepted the bill 

and returned to Kripal. On 15th 

March, Kripal discounted the bill 

with his bank for ~ 14,750. The 

bill was dishonored on the due 

date. Pass the necessary journal 

entries in the books of Kripal. (2) 

21. Identify the accounting 

principles applied m the 

following cases and briefly 

explain the concerned 

accounting principles. 

a) Asset = Liabilities + Capital 

b) Capital is regarded as a 

liability. 

c) Stock is valued at cost price 

or market price whichever is 

less. 

KR-126 

(3) 
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20. Lce:,1n.JO(l)T) 2016 Ql0©-8,du 12-m g,J<&m.>n9'.flm 

15,000 COJn.JWcOO ffi)()U)ffi6l5BC/D nllfl6· 

®6srocrnu Lce:,1n.JO(l)T) 63©6 mJl~r Offi'96®1 

g'J<& m.>n911 (l)T) m1crnu ®oce:,um:> n.Ju R cmm:>u 

ru o6l5B1. m 0©-8,du 15-mu l ce:, 1 n.J O(l)T) mJl~r 
6YlJ()83:,1(l)T) (U)1ffi>uc06)"()6f)g 6).!2.J(!2)(lj) 14,750 

©Jn.J n.J smo ru o6l5Bl. ce:,oeioru w1 ce:, <#l 6l1ml) 

B1ru m:>o 6YlJl~u (U)1m:>u<&nD06ffiOOm.>1. 

l ce:, 1 n.J o eJ1 @ ~ 6YlJ 6 c001 @ eJ <& g,J ro sm (l)T) 

850 

nffi®Ls1ce:,oo nffi'96®6ce:,. (2) 

21. ® o @ '9 n.J o m.> 6 cm m:> o nD .!2.l co ,'.i 6l5B oo 

n.JC01<&(fl)OW1-8,du ®oc00"06fl's1oW ®®J6l5BC/D 

c0:, 6) 6fl's mm 6 c0:, ' ®o c06) "() 6fl's1 0 (/) V (lj) (lj) J 0 

eine.i6ru o m5l nil ru co1c00 6ce:,. 

a) @'@ffi>u®1 = 6YlJ0W,'.)® + OlJe.JWmo 

b) OlJe.JWmo 63©6 6YlJOW,'.)®m.>om.>1 

ce:, 6fficOO0c006crn 6· 

c) <&ffi:iOcOOU (&c0:,0ffi:iu 6l6lLn.Jm:>1<&e.JO 

m oroc00 R @@Ln.J m:>1 <& ei o nffi®0<& smo 

c0:,60(lJU ®o ®1 (l)T) ce:, 6TT)c06)()c06) 6cm 6' (3) 

Turn Over 



2 2. From the following Trial Balance 

and additional information given 

in respect of M/s Travancore 

Traders, prepare Trading and 

Profit and Loss account for the 

year ended 31st March, 2016 and 

Balance Sheet as on that date. 

22. .!2.l,!,ClJ @S 6lc0:,0S6rnm136~~ LSm.>am 

6YlJOe.Jcmm:>1am m1crn6o LSOQJ®c0:,J© 

@LSwl<&s<#'m:>1@~ 2016 moro.g,f 31-mu 

®o ru m:> o m1 c06) 6 cm 

6lLSW(U)1ow @'@)®(U) <&Ln.JOn.01fl' @'@)®(U) 

<& eJ Om:>u ®o c06)'0 6fl's6 o @'@ B1 ClJ m:> 6) wm) 

6YlJOe.J®m:>u n91lfl6o ®(lli000c06)J,c0:,, 

Trial Balance as on 31st March 2016 

Particulars Dr~ Cr~ 

Stock of goods as on 01-04-2015 9,200 

Purchases and sales 40,000 82,000 

Purchase Returns 1,350 

Wages 8,000 

Salaries 8,900 

Sundry Debtors 10,000 

Insurance premium 3,000 

Bank Overdraft 11,500 

Capital 50,000 

Drawings 2,100 

Land and Buildings 47,000 

Furniture 12,000 

Commission 1,550 

Bad debts 800 

Cash in hand 5,400 

1,46,400 1,46,400 

KR-126 14 

850 



Additional information : 

a) Stock on 31st March, 2016 is 

valued at~ 10,400. 

b) Wages outstanding amounts 

to~ 1,200. 

c) Insurance premium paid in 

advance~ 300. 

d) Depreciate furniture by 10%. 

e) Create a prov1s1on for 

doubtful debts at 5% on 

sundry debtors. 

KR-126 

(8) 

15 

a) 31-03-2016-(l)T) <&ro:ioc001@~ nllei 

10,400 ©Jn.J. 

b) (&(ljg'Jffit 6)c0:,0SJ,cOO,!,ClJOffi,!,~~(lj't 

1,200 ©Jn.J. 

C) gQ®n91JOcmmf Ln.Jlm1m.>o m6cfoce:,JOOmJl 

meiuce:,1m.>® 300 ©Jn.J. 

d) n.0 ro sm1 -8.l o1 mu 10 % <& ® wu mom o 

c0:, 6(l)c06)0c06)J,c0:,. 

e) m:> 6llO L s1 @ (U) mfo R ,f m:>1@ ~ 5 % 

<&Ln.JOnJln91 cm ru m>c006c0:,. 

850 

(8) 
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FIRST YEAR HIGHER SECONDARY IMPROVEMENT EXAMINATION JULY 2017 

SUBJECT: ACCOUNTANCY WITH CA CODE. NO: 850 

Qn Sub Answer Key/Value Points Score Total 
No Qns 

%°°ciJ (b} [t] I 

[1] Stock 1 (f) 

[2.J u.n'ftt.cuu.w C1lrh ~ pe,cg&n.J (1) [•] 
u.Re. (c) 

[3] (a) E..,,,, pJ.o 'de e ""-= b v, - N ~~ 'Jecc • 

(b) ~,yy:, plo 'f e -vtd/YYU _ - ':J ex. f- (14 X' 1/1..) [2.] 
(<:) E.'VY.>plocr' cl»i~~ - 1e:xl:-
(.d.) E¥>')pl.ofl- DoB - Da.h/"Jt'wu. 

[1/2. Sc.die ¥ ead-t. .i~] 

[t+] (A) (.i.) , (ii) amd. (iii) a.,-u Co-'1.Jt.Qcf- (d.) (I) [zJ 
CB) I< e 'YU w o1 1 -+tu 9:ill (I) 

(~] (0..) sfa.t-e'YYlAIY>t 1 A-6{~ (~]. 
op~·~ Sfui-e'l'YU!n+ 1 AttlWtl 

(I) 

sf ah~ t- ~ -:fi. a:,,,.. OJ 
(b) &Ill t sl- ~ p • ol. 0 l 5 

a • 

.J-H-JeH ,.Lh,-,,r 
1-,& a. lo ill +t_u J.tt,nt-

~600 Cakh~ ~d 
<..ft-) 

s (..VO~ t,t.lAI·~ 6,300 

B.LLL p~able 3,4~0 s~ Debhh, r;-, 700 

c1M i ~ .s+od< -r,300 

Ca.pi~-~?"') 61 OiO (/.f,000 I '=i'-'-"<.Nti. ~ 
M.a. ctu· 'Y\V(.~ 

o16,000 

(2-) 
6q,.3oo GCJ ,3oo 

(dt) Ca.p1W - ":lo+cJ ~eh -
'-4 'a b-.J.i-1:-c:u 

= 6q,3oo - 8« 5"0 

==-~ 61,0S't) 

[01] 



Qo.No 

[6] 

[~] 

[sJ 

Scoring Indicators 

(C) Pxt•.f:- _ Ca.p1fcJ a.t- -thD. ~c1. -
Ca.pi~ a.t- ifu. be8-'KVLc'Mj 

- 6ir;JOO - 61050 

- ~ 6,.1-f!,O 
(c,\J 
s¾o.~e,v:,t- 1 pn&t·t- a-

l th #u. ;:::,::.,~ eN;)~ 3 1' Mo.,d. ~O I~ 

(~) 
Ca.pii-ol aJ:- -tl-a en:,cJ. 67,'iiOO 

t...ut : Ca.p1tal a.!- -ffu. be3.cCA.""°' ~,,os;o 

Px+-e cl.w<i, tt..o 'fD-'< 6,tt- s-o 

.. 

Cod.. No: 890 

Split Total 
Score Score 

( 1) [4] 

[2] 

(a.) Deb.it- - ~tY.>Uto..a.le .iK.J .Assel::r (I) [1] 

Ca,) 1 ,-u.·al. eo.D.wncq . 

(b) (iJ £Jt,(_CJ'u 1 p~~k 

"J ht .xa.ctt· {'i-Ylj ~ °q ~ 
Ma.cf.,;~ ..A/c. D" 1,000 

JO Wa..r-' ..A/t: 1,000 

(1) 

( 1/i.} 

(I) 

··- -· ·-------------



Cod.A No : 8 ~o 

Qn.No Scoring Indicators Split Total 
Score Score 

(ii) E.'1.9tdu 1 p,wr;uple . 

. . Jh.t -'t.e.c-h~~ e,r.,-t~ .iJ 

F l..OCNU+o,u_ Jt/c:. D.- 8l+OO [ 4] 
To pwr.~ ..A/c 8,'100 (I) 

[qJ (f) OJ 

Qo] (ll) MaJt$li.o.1Ji~ . [ Gt.'1.oup~a Cllr.>ol (I) 

rvt~·~J 
( b) !.,.i '\l., .. ,:d.l~ o'u:wt. · (I ) 

(c) CWtJu.tr.>t Asseft = c~..,,,;, t~.- + 
SWY:>chu;, De~ ( Yi..J 

= 3,ooo + 13, ooo = ~ tG,ooo 

Cu.,dtalr.:>t- kt'a.b:,J.A"+w -== BQH.>K o/o + 

:: :=cl_;i-~"1:'1:i.000 (1/J [
3

] 



Qn.No 

[12] 

Scoring Indicators 

Oeb+dr. - -:1~ 

c,u.d.,:tdl - A "'-UN:> · 

Cod.t No; 8~0 

Split Total 
Score Score 

--1===:p======~=========~===l=====-t 
sk~+ .Adm..t.Ht-&Y.) r-Jww.,be.,c 
S-1:-udAJt?t N OJYYU 

S-6.~ i- Se :r:. 
s ~.f:- Do B 

[·· -~~ o_ttux. .sw.·-kbk 

(I) 

Q 9] (a.) BQ/Y:) k Rt cevr.clk ~ s+a. l-b'YYII.JA.t (J ) 

(b) BaNJk ~cev,c.,:L·a.-1:un-, s~f~-1: 
ru en 3 I 4t- MOJt.Cl.i ,;io t G • 

C~) 

f ,900 

[ ot,-J 

(I) 

(I) 

(r) 

(1) 

[1] 

[~J 

[2-J 



Coda tvo: 8!:iiO 

Qn.No Scoring Indicators Split Total 
Score Score 

[r'+] 

[2] 

[is] 

(_bJ 
{}Y Ma.chi~ Jt/c. 
04.f'e p4't!,' • ~ An,t-.. Oah ;:..-~!:~ ~ AW>~~~ 

«013 (~} «DI! (f) 
::1oa,,., To BCJ1Y.>~ s-0,000 o«.s, B'd- .Dep: · · s-.ooo 

c~ J i----1 11 Bal· e/d. t,.t;;,000 

S'O ,000 ,E_O 1009. 

ao Iii -r. n kW·~ :JoM., ,o BM• b/cl t,.r;,(Joo Deci11 s'd De~-fi:.~ /.f.'"ioo 
" BtJ, c/d. lfO, 90Cl (I) 

~.ooo Jtf;,ooo 

clOlS Tt Bal. t..ld ~ olDH 
JOIA-f O ~ • 40, 00 Dtca s'd Dep,u.u..,.,:.; /4,0'.i'O 

" Bol · c/cJ. 36,Jf.fi0 ( 
1 

) 
[~] 

J.f0,9DO- 40,'ii00 

. --- --



Qn.No 

.?OIS To atJ · t.lcf ;r.,., "1' 

-,,.., ,, stde.1 

Scoring Indicators 

(¥} ~ aDi, Cft) C~} 
s-,300 - :r .. , By BtJ, i,/d 3,6oe 

1.3,900 ', ,, pux&a.ale. cl. 7~ 

C I~ ,000 ~":r " 0Glh'll< ~ Hi,OOC: 
..,,ooo r .i ,, fk'£1<. t 7,0oc. S' ooc 

Ii' ,, C ' 

Split 
Score 

1 It c.cut-i 
8 u Mwia:Oi 

f~ If ca.rl-i 
, s , r 8CIIY.>~ 

:z.; lf RcJwi 

C 7,000 Ii II C 3,00() 

~ .s-,ooo ,1,o ,, .s~ ~. ~"" r, .. 
l ,800 II 0 I )( 1/2..) 

,, Bar ·e/d 3,;~ I~~~ (.Yi_>c t) 

,30,Bt>O cB,8o0 30,800 .2?,80t 

(r/L) 

M/s M ef,a •:bt.o..clvu 
pwu:.h.ruet Book.@') :To~ 

,__--,-.---~f--------
o a!e ~ r\JQNYII. 1 ffa Supp~ 
a.a,, ,3.., M/.s J-1 C1Jii s,cee Book, 
"T~I (lboo- (.:l.O~ 

8 61:l p ,i~m..ivr. sfdlu 

JS 
ca,oo + «4oo) 

8.17 v, ~ok.o. s-Ww 
(o1bOO ..,.a-roti) 

31 - ka,-c£-m. s-tdw 
""Jo+a.l. 

Ci) 
ro, soo 

/.I., ;oo 

S-,300 

a..ooa 

a_a,,fJOO 

pu,a:.lu:ue Ra.~ Book(o'l) R..~ 
.. Ou-1:wo.x.d- Book 

(I ) 

C•) 
(1) 

(1) 

(t) 

(1) 

__ .___-=-[+_t/1.. Cox,ucf- eN:>h<:J 1 ricfc_k,o.cfr.o. 

[06] 

Total 
Score 

[6] 



' ' 

Subr l- ~ .A CG(}~ hw.,, w;te,. CA c.cda No: 8,o 

Qn.No Scoring Indicators Split Total 
Score Score 

[20] E,y:,buiJ .vn +eu book, °b 
k."·"P°" C Dxa.w~) 

J'"~ ..A/c - - - . o,, 
"To solu -A/ e l!.,000 (YJ 

,, 0 · Rac.t.ivo .A/c • • • c,.. 
To :r~ .A/c 

1!1,ooo 
(Yi.) ,g,ooo 

1s C 0Q.N:)k .A/c - - ~ DY 
D.Aic.ow,:,i ..A/L - - - DY 

,o 0:db Ru.e.iva.hie 

JJ.f.,7~0 
a~O CY,-) ,i;;,ooo 

16,000 C 'I;) ,s,ooo 
[2] 

[21] (<l-) (1/,) 

(1/~ 

(b) (¼) 

( ½-) 

[.3] 



rQn Sub Answer Key/Value Points Score Total 
No Qns 

To op. s-1-oc k 

" P uxcli.a.,e t,o,ooc 
IJJI R,ofu.,ue1 t ,ago 3 8, 6S-O 

l~J (</ 
q ,oloo B~ sal.u so1,ooc 

tr cl- .Stock 10,/f.OC 

,, ~ 8,000 

.A o/s 1,olOO q,.l.00 
(3) 

I/ Gt .)(.&fJ P"-i'i-~ .3£;,3!;0 ov uc-l, Y:a. SCtru. 
qJ,,400 q~,'IOC .. l-o" 

'To saloXW B,Cfoo B'</ Gr~ pxoffe~J .3S",.l!;ll 

tr A-tu l»f.a.MU 300t> ,, Co vn m-u$ .uwt f,9S"O 

£J.11 p-'Upcud. _ 3 00 «,':foo 

,, Ba.d chb-h- 80( 

~d.d. P-'<OV~ ~ r,3oo 1A D/D ,, Dep~c=:t l,d.00 

,, Ne{- P.'"'~f:- c:i~ 18oc (3) 
Ci~t~J3 Yi_ Sc.d. I .fey €.4cJ, 

3',,qoo .i f-e,... 
.a,,qoo 

,-

. . . 
r .... , •• ~-.-r u .. ue,+,i .Li..-~ 

Batr.> k o/o II, !,00 
cc:v£,_ .All? ,h.a,,,:, cl f;~oo 
De~ o/s I ,«OD 

10,0DO war ku:f pjto \).IJit,,, 51'J'O qs-oo 

Ca.p1+J r;t,,OOt cJ.e1 ,·, .s+o_c k (O,4OO 

.Add N/p c;l~.ttc PJUprua ..vn.,~-~~..! • 300 

,~.B-f't ~twt.R. 1.1,0o« 

£....tu D-'<a.«o1.1iMU el, un =,.o,::,.o, kv& Dep. t,,oc ,0,800 
~ s~jt~ u ~d & Bw·JcL·"'i 4-;,000 

(2) 
83,"'fOO 83,'+0-o [8] 




